

6. Example

$$g'(u) = f'(\tan u + \sqrt{r} \sec u) \times (r \tan u (1 + \tan^2 u) + \sqrt{r} \sec u) \quad (1)$$

$$\underbrace{g'\left(\frac{\pi}{4}\right)}_{\sqrt{r}} = \underbrace{f'(1+1)}_{f'(r)} \times \underbrace{(r - 1)}_r \Rightarrow \underbrace{f'(r) = \frac{\sqrt{r}}{r}}_{\text{Result}}$$

$$\left(f\left(\frac{\sqrt{x}}{y}\right) - yg\left(\frac{\sqrt{x}}{y}\right)\right)' = \left(\frac{\sin\left(\frac{\sqrt{x}}{y}\right) - \cos\left(\frac{\sqrt{x}}{y}\right)}{\frac{1}{y}} - \frac{1}{y}\right)' \quad (5)$$

$$= (-\sin) = \sin \downarrow \frac{\sqrt{x}}{y} = \left(-\frac{1}{y}\right)$$

$$\begin{array}{l} \frac{x+}{x-} \\ f'(x) = x\sqrt{ax} + (x-1)\frac{a}{x\sqrt{ax}} \Rightarrow f'\left(\frac{x}{x}\right) = x\sqrt{a} \quad (6) \\ f'(x) = -x\sqrt{ax} + (x-1)\frac{a}{x\sqrt{ax}} \Rightarrow f'\left(\frac{x}{x}\right) = -x\sqrt{a} \end{array}$$

$$x\sqrt{a} = x\sqrt{y} \Rightarrow \sqrt{a} = \frac{\sqrt{y}}{x} \Rightarrow \left(a = \frac{1}{x}\right)$$

$$f'(r) = a$$

$$f(r) = -ra + r$$

$$-ra + r = -1 \Rightarrow a = 1$$

$$\boxed{f'(r) = 1}$$

(F)

$$\left| \frac{t}{\frac{1}{t} + a} \rightarrow 0 \text{ as } t \rightarrow \infty \right.$$

$$\frac{ax-1}{x^2+1} = \frac{1}{x} + \frac{a}{x} \Rightarrow x^2 - (1+va)x + 1 = 0$$

$$y' = \frac{a+x}{(x^2+1)^2} \xrightarrow{y=0} \frac{x=t}{y=0} \Rightarrow va + 1 = (t^2 + 1)^2$$

$$va + 1 = 1 \Rightarrow a = \frac{-a}{v}$$

$$-t^2 - t^2 - t^2 + 1 = 0 \Rightarrow -(t-1)(t+1)^2 = 0 \Rightarrow t = 1$$

$$y = 0$$

$$f'(n) = x^2 + a \xrightarrow{f(a)=0} 1 + a = 0 \Rightarrow a = -1$$

$$f(r) = 0 \Rightarrow 1 + ra - b = 0 \Rightarrow b = -1$$

$$\boxed{b - a = -1}$$

(4)

$$f^{-1}(x) = \left(\frac{1+x}{x-1} \right)^r \Rightarrow (f^{-1})'(x) = \textcircled{1}$$

$$\Rightarrow (f^{-1})'(r) = -1r \quad r \left(\frac{1+x}{x-1} \right) \left(\frac{-r}{(x-1)^r} \right)$$

$$\frac{f(0) - f(-1)}{1} = -1 \Rightarrow \textcircled{9} \rightarrow (-1a + 1) = -1$$

$$\Rightarrow a = \textcircled{1} \frac{1}{r}$$

$$f'(x) = r(x+1)^{r-1} (ax+1) + (x+1)^r a$$

$$\Rightarrow f'(-1) = -1$$

10

$$\frac{\sin \frac{\pi}{p} \cos \pi - \sin \frac{\pi}{p} \cos \frac{\pi}{p}}{\frac{\pi}{p}} = -\frac{r}{\pi}$$

$$\frac{\sin \frac{r}{p} \pi - \cos \frac{r}{p} \pi - \sin \frac{r}{p} \pi + \cos \frac{r}{p} \pi}{\frac{\pi}{p}} = \frac{r}{\pi}$$

۱- برابر